EXAMPLE 3 Solving a quadratic equation in non-standard form

Determine the roots of this quadrartic equation. Verity your answers.
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Factored Form of a Quadratic

Function
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EXAMPLE 1 Graphing a quadratic function given in
standard form

Sketch the graph of the quadratic function:
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EXAMPLE 2 Using a partial factoring strategy to sketch the graph of
a quadratic function
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Sketch the graph of the following quadratic funcrion:
flx) = =" + 6x+ 10 x €R,
State the domain and range of the function.
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EXAMPLE 3 Determining the equation of a quadratic function, given its graph

Determine the tunction that defines this parabola. Write the tuncrion in
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standard form.
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EXAMPLE 4 Solving a problem modelled by a quadratic function in factored form
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